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10th Mathematics

Longlif] eflesinggmeir 2019- 2020/ Model question paper 2019-2020
LGSO au@GLIL) - X STD
&euol1&10 - MATHEMATICS
(2iufeord Lopmid gudlp / English & Tamil Version)

&1eoid 2aney 1 15 [Bfltd + 3 Lol LSRN T se 1100
Time allowed : 15 mins + 3 hrs Maximum Marks : 100 ;
Instructions :

(1) Check the question paper for fairness of printing. If there is any lack of fairness, 4
inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams, .
2infleyenr : (1) 2ADNhy olendaemd sl sda uhamd) 2 TSI cTehLMmS
FiflunidgdOanerenayd.  id i 1hash GDUIHENIGET  Dienmds ‘
gaanailnanflib o L aguwns Quflalsaaid.
(2) fhovid  nsvevgr sl wiouflavar GG TUPHINSDESD g
Gamg(bugp@d  LweiLbds  Gastn(bo. LLGSET —U@IIBNE

Gstrdled Lwssi(hFgaLd.
Note : This question pe tai ts. .
‘0 c 'IIS: qULS 10‘11 p‘ip-cr COl"l alnsfaur parts . | M_ PALANIAPPAN' M.ch B.Ed" |
Gl : Gelellcwndgnar BI6H & LIgdsemend; CIB1GHTL 1. B.T. Assistant (Maths) |
U@ﬁ—l | PART-I SGH.SS., NERKUPPAI, SVG. D_i_st |

(Lo Gt = 14) / ( Marks :14)
@iy = (1) @uIflefleb o cirer 14 eleanéasend@tn eflevL wellésab.

(2) Qan(bdsii’(berer preig wrHn foLselss Waan FNwme
oL ews  Gaipts®ss GOIS (bLeir el ulevenuyd  Gaide)
GT(LPSHALD.

Note : (1) Anwer all the 14 questions 14x1=14

(2) Choose the correct answer from the given four alternatives and write the option
code and the corresponding answer.

1. {(a.8),(6,6)} A5 @ Fwafs FiL) eTailed, a pmid b wHiLysertae
[(Eolule]T]

(a) (8,6) (b) (8,8) (c) (6,8) (d) (6,6) |
If { (a,S),(ﬁ, b)} represents an id@sity function, then the value of @ and b are respectively

(a) (8,6) (b) (8,8) (c) (6,8) (d) (6,6)

2. = (Lo (h 100)

(a) I (b) 2 (c)3 (d) 4

7%= (mod 100)

(a) | (b) 2 (c)3 (d)4
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3. apadimy  onpflaafledy  oiminds  epadim Gpifuch  aoshin(baeiletr O NN,
Sieser evaaeuiafley, 215051@ N0 O 6ren genbsar
(@) G ¢y Lyairaflufieh Glan (hib (b) ep G 1g6b Glaut’ (hLb.
(c) epadrnfledr LBg) epadimy Clnpibgid  (d) eedranmGuineiim e gy

A system of three linear equations in three variables is inconsistent if their planes

(a) intersect only at a point (b) intersect in a line
(c) coincides with each other (<) do not intersect
4. Oan( e L L gHe 2BAC=90" ohmid AD L BC srasfled A
(a) BD.CD = BC* (b) AB.AC = BC?
(¢) BD.CD = 4D? (d) AB.AC = AD?
In the adjacent figure ZBAC=90" and AD L BC
ZBAC=90"andAD 1 BC then B D
(@) BD.CD = BC* ‘ (b) AB.AC = BC?
(¢) BD.CD = AD* (d) AB.AC = AD?

5. x=11 194 Qan(hdhaiii’ L CriGaL 196 FLOGSTLITL TGS
@) X <idada@ Davaw (b) Y - s & 5@ @anews
(c) bl jeirerf] aufls Gaevaud  (d) (0,11) 6168 LyaiTei aufléd QFsbapiid
The straight line given by the equation x=11 is

(a) parallel to X axis (b) parallel to Y axis
(c) passing through the origin (d) passing through the point (0,11)

2

6. (sina+ ccrseccer)2 +(cosar+secar)” =k +tan® & + cot’ & erafled) k -s7 LoF'any
(@) 9 (b)7 (c)5 (d)3
If (sina + cos eca')2 +(cosar+ seco:)2 =k +tan” @+ cot” & then the value of kis
equal to
(a)9 (b) 7 (c)5 (d)3

7. GpIF 2 (hemenuilett 4/7Lb 1H6hT 2 wSHlev eLpeiImled e (b LIS, 6Tax ey s Qomg sl
LmUgriL

>

(a) 97:2 & 2UVGSHT, (b) 247h’ &0 56T
87h* ) 56xh’ )
(c) F VG HGIT (d) F 2AVGHEBEIT

The total surface area of a cylinder whose radius is -5 of its height is

2

(a) = Sq. units (b) 247zh* sq. units
i 567h’

(c) S;Zh Sq.units (d) 2 Sq.units
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8. Q&n(hSaLILIL L emauselsh 618 Saumeng ?

(@) P(4)>1 (b) 0< P(4)<1
() P(¢)=0 @) P(A)+P(4)=1
Which of the following is incorrect?
(2) P(4)>1 (b) 0 P(4) <1
(c) P(¢)=0 (A P(A)+P(4)=1
9. =3,-3,-3,...... GTGHT LIS 6T B QBT aurflang?
(@) L (hSOBLT auiflans (b) Guimd@s QoL auflans

(©) Gropsass @ressi(hb <i6hev
The sequence —3,-3,-3,...... is
(a) an A.P only

(d) Ll BGQILIT LoHMILD QULIHI:SICBTLIT

(b) a G.P only
(c) neither A.P nor G.P (d) both A.P and G.P
10. % -a LD_!_I')LDJLb (x-— 0)2 ‘@Gﬁf L5.5.o
(a) (x3—a3)(x+a) (b) (x3 —-a3)(x—a)2
©) (x—a)z(x2+ax+a2) (d) (x+a)2(x2+ax+a3)
The LCM of x* — a® and (Jc—a)2 is
(a) (x3—a3)(x+a) ~ (b) (x3—a3)(x—a)2
(©) (x—a)z(x2+ax+a2) (d) (x+a)2(x2+ax+a2)
11. n(4)=p, n(B)=gq eresflev A4 LoHmyid 5 4@ QoL Gw HenLd@ib QLonds, 2 maysericsr
GTGRITGHT |5 e
(@) 2° (b) 2’ (c) 2" (d) 27
If n(A) =, n(B) = ¢ then the total number of relations that exist between 4 and B is
@ 2° (b) 2° (c) 2" () 27
12. 65 tommith 117 Awaummler L5.C1Lim.eu-aney 65m—117 erairm Q9 aileh 61(LpgsLh Guingy
m=G8T LOFIL
(a) 4 (b) 2 (c)1 (d)3
If the HCF of 65 and 117 is expressible in the form of 65, —117, then the value of mis
(a) 4 (b) 2 (c) 1 (d)3
13. ggneflileliaphgr  LoLsslGupp  soayLLcTeRsER®LL  clevdahiseesr
EACERIE]
(a) GTLIGIM(LPGILD LBens cTevsT - (b) eTLOUTLpGILD GO cT6HT
(c) ydfuid (d) wefluopp wpepdean
92
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The sum of all deviations of the data from its mean is
(a) always positive  (b) always negative (c) zero
14, THmSGsTewILD opmitd BnasdGSH1ewlhisemal <2inaN(hLd S50

(d) non-zero integer

(a2) HCuwirL_enevL” (b) BenevL_meuGSHIL

(¢) QuiflevBasITLs (d) Qs rrenaupiTdid]

The angle of clevation and depression are usually measured by a device called
. (a) Theodolite (b) kaleidoscope  (c) Periscope (d) Telescope
\é @&~ 11/ PART - 11

(Gt aer : 24) / ( Marks : 24)
10 cflearTdias@md@ eflenLwiaflds. aflewT eTatsr 28 & HLLMULDTS afevLwerfldsab
Answer any 10 questions. Question no. 28 is compulsory. 10x2=20
15. (b mufli_td 532 LBOHTL Q86T 2_6iTaNeyl. Jia] auflensd@ 21 LHOBTL LG H6IT QLD
<Bés Amolmny. adsmar aflosser pupan QUDID GTEID LODDILD
TS LYHOSTL LG ST LEHLENHSHSLD GTGIRYLD BTG5S
A man has 532 flower pots. He wants to arrange them in rows such that each row contains 21
flower pots. Find the number of completed rows and how many flower pots are left over.

16. $ds: x* —13x* +42=0
Solve: x* —13x*+42=0

17. el A6t auflend pXq Lopmid et B -uleir auflena q X 1. @ iswsllseenyid
OLIHES WpLguyLb 6163160 AB LoHMLd BA S4Slweumplesr euflanganiLid: Hressis.
If A is of order pXq and B is of order g X, what is the order of AB and BA?

18. f eratip  epamengy  f(x)=x’-2 e auepumssiLBHnS. @m;@
XE {—2,—1,0,3} orev1s  Opnevmed (i) f~ebr  2myliysemeryy  ULLgued(h
(ii) [~60 &) (I FATLITGLOT?
A relation [ is defined by f (x) =x* =2 where x€ {“2,—-1,0,3} (i) List the elements
of f (ii)Is f a function?

19. APST ~APQR er6w Hlmiays. 2 :"
Show that A PST ~ A PQR i ) g

- 20. (5 GaILYTLD Favjhgs CFhigssns 2 ararg). Gyl 2 LILIGEUN W)
gmpuied 485 Ggnamevalsd 2erer @ el mig Ganyr o dfles

gnm&CanemLd 30° revfled, GHmLyslesr 2 WITHMBHS ST6NwS,

A tower stands vertically on the ground. From a point on the ground, which is 48m away
from the foot of the tower, the angle of elevation of the top of the tower is 30°. Find the
height of the tower.

93

. b

Scanned by CamScanner



B e e e e R R R e ard o e e 2 U e S b W R B SR

‘ o 24 QFLh
21. @ Gpian’Ld gnibifer sew <ienay 11088 BQF .5 D@D, dnLDLAGS D-UITLD
GTGUTIG, GG DTLD BV,

. - b i 1d the
The volume of a solid right circular cone is 11088 cm’. If its height is 24 cm then fir
radius of the cone.

22. P(A)%,P(B):%,wmm P(AUB)zgmuﬂsﬁ, P(AN B) g aneins
If P(A)=%,P(B)=%,P(Au3)=% then find P(Ar"‘sB) I

23. A={m,n} wppio B=¢ eefles () Ax B wopmitn (i) AX A sneirs
Find AXB and AX A for A ={m,u};B =¢

25 9482127, v 183 616810 g (b Qg1 fauflanaufesr (h 2 mILIL|E®ETI; HTETS.

Find the middle term(s) of an A.P 9,15,21,27,........183.

25. @orestlelt sHGunesi anubdr @uioLkGsn( oerand: gl 19eITe L LILg),
@Logeilest @esinan(ba@nse@ WhsL QILMSULLD AHafeT 4 24687(h H(EHSH G L
Lbesuw anengin CLimdss Sl LiLgh@d Fiotb eresfled, Sieumlest HHRLTESHW
QUGS S HITEHITS.

The product of kumaran’s age (in years) two years ago and his age four years from now is
one more than twice his present age. What is his present age?

7
2. (=4,3) eretrp yerefuisr anfl Gscvaugip ik FTUIAITES 2 GOLUISHILOTET
GrB&GHIL 1968 FLOGHILIML L& FHTessTa.
7
Find the equation of a line passing through the point (—4,3) and having slope —-g.

27.20 sgeys wyeiraflast QanGasiice elansder  Hiafadsan 6 e
@albleun@s grans Lerefyn 3 4 QUESELILL LT SlanL & @Lb. g,gsuu
yeiremgeflatr Sl 1 aflevdiaid Lommith evss aufded sngnef srens.

The standard deviation of 20 observations is \/_ . If each observation is multiplied by 3, find
the standard deviation and variance of the resulting observations.

28. @@ Blmraveib 25 Gpdsailsd CFgsmenr p S LA Lg. s Camaied 1
CFgutd, @uedsneugy Gpmaileh 3 Giguid, epaiipmeugy Ggmaieh 9 OFLguytd B
tpyey OlFdutin’L g @eiGauama Flannaemi i 616gmeT CF 19 56T Goama?

An organization plans to plant saplings in 25 streets in a town in such a way that one sapling

for the first street, three for the second, nine for the third and so on. How many saplings are
needed to complete the work?
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